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[210]
This question booklet is divided
into two sections — Section-A
and Section-B.
In Section-A, there are
100 objective type questions,
out of which any 50 questions
are to be answered. First
50 answers will be evaluated in
case more than 50 questions are
answered. Each question carries
1 mark. For answering these
darken the circle’ with blue [/
black ball pen against the

_ correct option on OMR Answer

sheet provided to you. Do not use
whitener / liquid / blade / nail
etc. . on OMR-sheet, otherwise
the result will be treated
invalid. '

7. In Section-B, there are 30 short

answer type questions, out of

which any 15 questions are to

.be answered. Each question

carries 2 marks. Apart from
these, there are 8 long answer
type questions, out of which any
4 questions are to. be

‘answered. Each question carries

5 marks.

Use of any electronic applidnces is
strictly prohibited.
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B _ [210]
| QUg - A / SECTION - A
aﬁ% U3 / Objective Type Questioﬁs -

HIT &1 17 100 7% & 99T & @rer 9w fweq o v & fed @ o ael

?lﬁ??sonw*mmmg#wwﬁﬁmwomyﬂ?w
fafea &% | 50 x 1= 50

Question Nos. 1 to 100 have Jfour Options, out of which only one is correct.

Answer any 50 questions. You have to mark your selected option on the
OMR Sheet. ; ' 50 x,1 =350

1. 42%%@@%%%

@A) 1286 @ﬁ’rz - (B). 1386 QA
©© 14860 D). T T
Lo | ¥ e aid & e sie eral sifsfae
_ L N’ Fsror e, aitecs 4z, aiiEe-,
The area of a circle of diameter 42 cmis _ mﬂﬁﬁ b ;gu?ﬂ%z;ﬁ“vm
‘ | | I . - - BlhurbourdQuestlonpuper com
- » s ' araﬂﬁﬁzar&.__
© 1486em® (07 . (D) None of these
0. I gl el F S 4 : 37, T ITH GG H1 S BT
Ay 3:4 . B 4:3
ACH 16:9 ‘D) 9:16

The ratio of the radii of two circles is 4 : 3. Then the ratio of their
areas will be

(A) 3:4 | B 4:3
(C 16:9 | (D) 9:16
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: : [210]
ﬁ@%ﬂéﬂmﬂmqﬁﬁrmmﬁwia}ﬁaﬂ

3.
FAHE
AL—2 . ® 3
< 4 | (D) 5
If the area and perimeter of a circle are hurherically equal, then the
| diameter of the circle is
A) 2 B) 3
) 4 D) 5
4. tan 30° x sin 30° x sec 60° =
1 . -
Ky .o B V3
(A) 7 (B) |
o 2 - 2
C) o A D) 3
5. BT qur v o At euEre % W 919 it ofars
6 2 ) -
A . zeex™ BT g5 %2
0 - - 0 2 .
(©  1ggx2m D) 80 X"
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. | | [210]
e length of the arc corresponding to the sector having radiu

s r and
angle _9 is
0 | ,
(A) -é-é-(-)-xnrg (B) 32 x 217
- i
(©) _ E*Gxilnr (D) '1"3'6"_”2
- -ﬁ"&'(-z,slmaﬁﬁ’mﬁ@a% 7.
@& v\ ® fda
o o) 9
In which-quad‘ranf is the point (=2,5)1ocated ?
‘@ Fist A (B)  Second
(C)  Third P o, (D) Fourth
A A EE(3,4)F T
a3 B 4

© o o | oy 7.
The distance of the point ( 3, 4 ) from y-axis s
@ 3 | B) 4

<€ o Ly 7

. 1 2131-(42/50) | Page 5 of 48
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- | [210]
8 WEIARMT (-4,-6)R 2 |
@&r 213 B) 13J2

© 10 D 2

The distance ofpomt (= #,~6 ) from théerigin is

@ 23 . B) 1342

€ - 10 | | s - (D) 24

9. ﬁ?geﬁ.(#,s;aﬁi(-s,z‘)%ahﬁ{ﬁ% 2

(A) 58 -, 4By 458
© 2 @ /@

The distance between the points (4, 5 ) and (- 3, 2 ) is

@ 58 . @ B8
© 089 . o @

.10, %isﬁ(—-&mam(7-,8')’ﬁﬁaﬁ'a1ﬁiar@ug%rﬂwﬁ§% |

(A) (3,9) By (2,6)
© (2,4 . D) (3,1)

: 2131-(a42/50) " Page 6 of 48
- BiharboardQuestionpaper.com |



https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

11.

12.

13.

[210]

The coordinates of the midpoint of the line segment joining the points

(-3,4)and (7, 8) are
®  (3,5) - ®
©  (24) D)
sin® 37° + sin 53° =

@4 o | (B)

© -1 (D)

sin? 48° — cos? 4’2" <l HIH %

(A) O : (B)
< -1 (D)
The valﬁe of sinQ, 48° —cos2 42° is
A o (B)

© -1 (D)

AR tan6 = y3 &, A Gect FTA T

W % ®)

©)

N~

If tan® = ¥3 , then the value of sec® is

B

(2,6)

(3,1)

3
2

2

n = ®) L
© = D) 2
2131-42/s0) Page 7 of 48
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[210]

14, ' AP |
. EI'F: Cos O+ sech -—-% E:T, ar cos? 0 + sec? 9 F HH %
21 1 17
w5 ® i
29 o
© == (D) %
If cosO+sech = g" , then the value of cos? 0 +sec?0 is
21
w 2 . ® Y
29
© 2 mQ 3
15.  cosec?57°-tan?33° =
A) O | B 1
© -1 | (D) 2
16.  cos 208 sin 70° +sin20°.cos 70° = biharboardquestionpaper.com
@ 1 B) 2
C o0 | ‘D) -1
17. sin 38° — cos 52° =
@a o - B) 1
(©) .‘/2_5. | : D)y -1
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® 3
[CE

(B)

(D)

(210]

1
4

3
8

If three coins are tossed simultaneously then the probability of

getting ‘_che same outcomes in all three coins is

W L

© 3

(B)

(D)

19. 3% P(E)=0-05,d P(E') e ¢

(A 094

© 003

" If P(E)=0-05, then P(E') is equal to

(B)

(D)

1
4

3
8

0:95

0-05 Rere §1€® e 3ie e sifbf@ae
FAYd Que, Alse YUz, 3ide-hl,
UT&IehdA, dled, Al eee, Ae-317 32

U udten uss U4 3fe & f3e...

(A) 094 B) 095

. ’ ' ( BiharboardQuestionpaper.com p
(@] | 0:03 (D) 005 | " ;k.
sin“6-1 -

20. e
cos“ 0
Ay sec?9 B8 - tan? @
© -1 ‘D 1
2131-F-804/804(86) 213 1-(a2/50)
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29,

28.

‘ '_ﬁwﬁﬁmﬂﬁaﬂmms%@iaﬁﬁwmﬁaﬂﬂm

(210]

2: 3% I 390 Fameat o o &
A) 4.7 . B 3:5
© 9:5 - (D) 5:9

The ratio of the volumes of two co‘hes is 4 : 5 and the ratio of their
base radii is 2 : 3. The ratio of their vertical heights is
@ 47 | B 3:5:

© 9:5 . . DO 5:9

q&w%?wﬁahés-snﬁ,a}-mméﬁm? |

@ 3 e -3

) 4 o : D) 5

- If the n th term of an AP be 5 3n then its common difference is

@) 3 XV B -3

Cpna’ . D s

-' w%%fiﬂﬁ%@'aﬁﬁﬁ%ﬁm(z},m;(o,uﬁ?(s',sy%llm

@ (52) - B) (1,3)
© (44) D) (3,5)

2131-(42/50). o - Page 10 of 48
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24.

25.

: [210]
The éoordinates of the vertices of a triangle are (4, 6 ), (0, 4) @d

(5, 5). The coordinates of its centroicl‘will be
A (5,2) . ® (1,3)
© (4.4) | D) (3,5)

Qa?émma%qs%raﬁawzﬁuﬁwamgmﬁ%i

TTF AT SR ST 1 S © .

(A)"I_6:-7 - (B) 7:6

C) 4:5 D 7:3

. The curved surface area of a cylinder is 264 m?2 and its volume is

.924 m3. The ratio of its diameter to its hcight is ¥
@A) 6:7 Y B T7:6

(©) _,43"5 \\ - D) 7:3

ﬂﬁfﬁfg'aﬁ_(q, z.;_»')', (b, c)GﬁT( 6 a) @ o B 1 s e fag &

c;341-£a13+c3 ERIEIT%

A 0 - (B) abc
(©)  3abe . D) at+b+c
2131-(42/50) Page 11 of 48
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B ) a0

If the centroid of the triangle formed by the points (@, b), (b, ¢) and

(¢, a)is the origin then a® + b +¢> is equal to
@ o B) abc e o
. - | R
(C)  3abc ' (D) - a+b+c

26. Hﬁ%ﬁ?%ﬁﬁﬂﬂﬂﬂ?%ﬁ%ﬂﬁ(o,ﬂ,(o,m@(3;,0)3*.?{)[%‘33

T ST M
w 3 B 6
© 9 : D) 12

If the coordinates of the vertices ;Jf a triarigle are (0,4),(0,0) and
(3,0), then the area of the triangle is

@ 3 | B 6

< 9 o (D) 12

27. ﬂwﬁaﬁﬁﬂwﬁwmmg%rﬁmwm

g
(A) 2:3 ' ' B) 4:9
(C) 81:16 ‘ (D 16:81

. The ratio of the sides of two similar triangles is 4 : 9. The ratio of

their areas will be
@) 2:3 - B) 4:9
© 8l:16 D) 16:81

2131-(42/80) | - . Page 12 of4|8'
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[210]
28 % AABC 3 ADEF GTET § @@ BC = 4 W EF=5§H'TH9JT

AABCH 8%e 80 TP ¥, 79 ADEF &1 8515 &
(A) 100 §HP N B 125 FH"
(C) 150 & D) 200 T

If AABC and ADEF are similar and BC = 4 cm, EF = 5 cm and the'area

of AABC is 80 cm2, then the area of ADEF is

'(A) 100 cm? (B) 125 cm?

(C) 150 cm? (D) 200 cm?

99, f feelt g% w1 BreEm 14 YR, A TT F STHA ‘W

L@ sewlY o @ 2013
(€ 616 T’ D) S16dW

If the radius of a circle is 14 cm, then the area of the circle is

() 616cm? (D) 516 cm?
2131-(42/50) Paée 13 of 48
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B ' (210

30. AR Frelt g =} fromy 14 T &, & g @i gRfy @i

(A) 44 9t By 83 FH

(C) 42 ¥4t | (D) 616 |Hl

If the radius of a circle is 14 cm, then the 'circumferencé of the
circle is | |

A)  44cm (B) 88cm

(€) 42cm ' (D) 616cm

- 31. o-@aﬂgmﬁﬂﬂ@w G & (STl p, g IONH & g#0)

.. A : 49
(-A)_ 100 B39 _

49 | 49

© 5o O

0-49 can be expressed in the form g (where p, q are

integers g #0-) as biharboardquestionpaper.com

49 : 49

M- Too Bl g
- 49 49
© 50 P

32, frerfetfan o @ T i WM d 2

@) Ja9 B). {36
c J27 | D 16
2131-(42/50) Page 14 of 48
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(210 ]

Which of the following is an irrational number ?

OIS - B (%
© &7 | o 16
33. WU 10x—2§ WW%
| 5 5 19X =pe -
@ 3 T | B -3 2 :\}/);%-
. s
© 3 o 3 o5
The zero- olf the polynomial 10x - 25 is
" - SR
© 2 o 2
34, WEUS 3x? +8x #10 T U &
@ @ g B 2
© 8 D10
The degree of the pdlynonﬁgl 3x? .+8x - lp is
w s B 2
© 8 | D) 10
21312@21591 - Page 15 of43
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35.

36.

37.

e % 3 B S g &

[210]

(A) _x2+4‘/;+4=0 (B) (x2+1/;)(x+v/;)=5

(> (x.+1]2+x2=-.0 | (D) (x+1)3;11

Which of the following is a quadratic e.quation ?

(B)  x*+4/x+4=0 B) (x2+Vx)(x+vx)=5

(Ci (x+1P2+x2 =0 D) (x+1)2 =11

A p T g oo Wt ¥ @ g A p2g 1 HOHS F

@ P B P4

.fCJ ' p°q® | D) pg

If p, q are prime numbere". tlzlen the H.C.F. of p3q and pqis’ ) -

3.2

(A pq ; B) p?q

(€ - p3g° D) pg

sin(90° <8)—cosf = -

(A)2 "\ 'sin . B tand

© o O 1

38. TG a=23x3, b=2x3, ¢=3"x5 T (q, b, ¢ ) & LCM. =

23x32x5,ﬁ} n=

(A) 1 - (B) 3

C) 2 . D) 4
2131-(42/50) - Page 16 of 48
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_, . [210]
If a=23x3, b=2x3, c=3"x5 and LCM. of (a, b, ¢) = 23 x3% x5,

then n =
a) 1 | (B 3
) 2 (D) 4

3 AR FEmatt 3+4/5 q91 3- V5 T PAGA & Th
(A) 9RHg G By IUREF &
(C). (A) 3R (B) AT D T q FIE A&

The product of two irrational numbers 3++v5 and 3-+v5 isa/an

(A) rational _nufnber (B) irrational number
(C)  both (A) and (B) " (D) none of these |
tg e a1 & ae 3ie gera siiftbf@us
frr - S Fdyel due, Alse Uue, 3Hide-6l,

7 8 TR % 412 % e L UTGIkhd, e, Aile 2eE, Ae- 317 3

, - OfRee udten usa U7 aife & fRe...
_(A) 2,5 F B (B) -2,5 BiharboardQuestionpaper.com p
. k . v R

©r 2,-6 @ 2.6 aft R & . ==

The zeroes of the quadratic polynomial x_2 +4x-12 are

A) . 2,5 ' B -2,5
) 2,-6 D) 2,6
2131-(42/50) . Page 17 of 48
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(210]

4L W FAR % < S & ot w7 o 4 ¢ 0 81 ¢ OF gl %
AAHE T ST 2h
(A)  2:3 B) 4:9
C) 16:81 (D) - 1:8
~ The ratio of the volumes of two cylinders of equal height is 4 : 9. The
ratio of the areas of their curved surfaces will be
A 2:3 @B 4:9
© 16:81 | ‘D) 1:3
42. I TF ¥Wp R U I & A SN SeE A &, A I S
- 3TIT T BN 2
A 2:3 B) 1:3
C 3:4 . D) 1:2
If the diameter'and the height of a cone and a cylinder be equal, then
what will. be the ratio of their volumes ?
(AN 3 . B) 1:3
C) ".3:4 D) 1:2
43  _tan45°-tan30° _
' T+tan45° tan30°
TP - | ' J3+1
A (B
( ) J§+ ) ] J§ _ 1
1
C —= D) 1
(€) 73
2131-(42/50) | -~ Page 18 of 48
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~ 45.

_ [210]
R fogE A (x,2), B(~3,-4) @ C(7,-5) NG, FxFMAAE

@& -63 B] -60

(©) 63 | - (D) T § B @
IfthepointsA(x-,z],B(—S,-4)andc(?,-S)arccollincar,.then'
the value of xisl

@ - -63 B) -60

© 63 | (D) none of these

T Bt oap R 9% 4 (0,0),0(0,0) % B (0, b) ¥

e (g S

(A ab | (B) -é—ab
© LA D 3

The area of triangle OAB with vertices A (a, 0 ), O (0 ,0 ) and

B (0, b) (in square units) is -

@ a B gab

1 2,2 ' 1.2

© za'b D) 5b
2131-(42/50) - Page 19 of 48

‘BiharboardQuestionpaper.com


https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

E [210]

46. ﬂﬁ:ﬁﬁ(maﬁ@ 2x-3y =5 W e &, at o %1 7 W

(A) 1 (B) -1

© 3 | 1
| o 4

If the point (4, a) lies on the line 2x -3y - 5, then the value of a is

(A) L ’ B) -1

C | B |
© 3 D) 3

47.  x?-2x-3=0 T x2—8x.+15=0 3 WIS 7 ¥
@ s @
€ -3 | D). -5
‘Common root in x® ~2%—~3 =0 and x2-8x+15=0 is
@A) 5 (Bj 3
). =3 | (b) -5

4s. Tl g & wmr o p @ @ wot @ pa v pp Wi W R

PA=5@¥ﬁ,ﬁTPBaﬁﬁa’r§§Tﬁ

@ 0¥ . B s¥
© 15 Qe | D) T A wE
Bl 31-(42/50) Page .20 _(',f 48
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- . [2101]-
- PA and PB are two tangents drawn from an external point P to a
cjrclc. If PA=5 cm, then the length of PBis

(A) 10 — | - (B) 5 cm

(C) 15 cm | (D)  none of these

._Wwﬁﬁquﬁdsaﬁ;m'sﬁﬁz%%lm

@ 2 B 3
@ 4 o s

The second term of an A.P. is 13 and ifs Sth term is 25. Its common

difference is -

@) 2 . B) 3

© 4 ' D 5

13 3R 17 %1 iR e &

@ 13 By 15

o 17 . (D) W H AR R

The arithmetic mean of 13 and 17 is

a 13 - B) 15
() 17 _ '(D) _None of these
"2131-(a2/50) | . Page 21 of 48

BiharboardQuestionpaper.com


https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

[210)

Sl. UF 6 i R aer frey w7 iy 5197 &, & o 1 B E

@ 7EE B) 14§t
© 219 - D) 283
The sum of tiqc circumference and radius of a circle is 51 cm. Then
the radius of the circle is
A)  7cm B 14cm

(© 2lcm ' (D) 28cm

52, sﬁﬁﬁm%*ﬁﬁaﬁﬁwwmwﬁﬁ%w%mﬁm

I W & AR F e T

- (A) s-ﬂtﬁ:'_- L APE o Bt
(©) 10 ¥ AN ) Eﬁﬁaﬁ%ﬂﬁ
A sphcrc of radms 8 cm is melted and recast into a cone of he1ght

32 cm. The radius of the base of the cone is
(A e | (B diend J
| (o8 10 cm | (D) none of these
53. uﬁwqﬁmaﬁ-ﬂmm 3@14'134314@&%@3#&1@@%%
aiaq»—cﬁ%m%w%a’rwqaﬁﬁw%
@& 7 . B) 128
(C) 5 Qs | D) W § HIE 7
2131-(42/50) Page 22 of 48
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54.

(210]
If the area of a circle is equal to the sum of the areas of circles of radii

3 cm and 4 cm respectively, then the radius of that circle is

(&) 7em B 12cm

(©) Scm . (D). none of these

U GHETE BT ABC FT U 3T o & | SHH ST &

(C)- k. Jsa__ .-(I_)). _-J_Ea

A side of an equilé.téral triangle ABC is a. Its area is’

I O et

55.

ABC T wHfEE ﬁlﬂﬁ%ﬁmﬁ sC- 90° ¥ aﬁAc= 6 It 2, @ aB=

@ 6@'% | v - 6/ Wl

© ) 2J6 | | - (b) - 4{5 %’flﬁ

'{’LBC.Iis an isogosles triangle in which ZC = 90%, If AC = 6 cm, then
. . |

@ 6em B 6Eem

(C) 2./6 cm IR fD} 442 cm

2131-42/50 | Page 23 of 48
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E | | [210]

56. tan© tan®
secO-1 secO+1

(A)  2tane (B)  2secH

(C) ~ 2cosecHd (D) 2tan6.secH

57. 5 U fewr a6 U g F g p W wT Y@ PO B 0 WS AT

T W ¥ 95 0 W @ wer & & 0Q = 12 At Po‘eoﬁmé% |

(Aj 1299 - (B) 138Hl
© &5 © JT19 ¥

A tangent PQ at a point P of a circle of radius 5 c¢m meets a line

through thc'centp%af a point Q such that OQ = 12 cm. Length of
PQis oo
(A) &g . - (B) 13 cm
. _ _
@c 8:5 cm | (D) J119 cm

58. Ueh [gdh i IVEH T T2 3T ht Widehel &

1
A O : (B} 5
1
1 2
(C) D5
2131-(a2/50) Page 24 of 48
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29,

60.

61.

| | [210]
The probability of getting a tail when a coin is tossed is
A o | ®
. ¢ 2
< 1 ' (D) 1.
-

AT W T W O S ew e A e @ A
10 89 ® wiywaT E

1 |
I (B) % |
SO, B S n, ool
S D) 35

- Two dice are thrown' simultaneously. The probability that the sum of

the numbers appearing on these dice is 10, is

CIE S ® %
o é ’ P .‘ D) | 3_16
| QmQ_Oégtan60°xc9530°=
@k ® 3.
©) % o g

p_ as.mﬁ'o-mm’tﬂ—vimmm%

M5
67 - 67
A | T L
R 22x52
© 2 O T I wE
2131-(42/50) ~ Page 25 of 48
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62.

63.

. 64.

.{210]
In the form of mfv =» 067 can be written as
27 x5" )

- 20x5 o ' i 2°x5?

Q) 67. o (D) - none of these

2xS _ _
sin? 6 =
(& 1-cos?e . @ cos?e-1

L (© -'Jl—cosfe | (D) Jcos%;l

WHIHTT I 3x-2y+3=0, 4x+3y-47=0 FEAL

A x=1,y=3 B)  x=4,y=5

© x=5,y=9 . (D) x=8,y=5 "

. The solution of _the pair of equations _3.x-2y+3—-_-0,

4x+3y-47 =0 i§
© Cx=5,y=9" = O x=8,y=5

TH WHICY 1 % F9 A 9% AL (3y-1), (3y+5) T (5y+1) £

(A) -3 - - B 4
© 5 D 2

2131-42/50) _ | Page 26 of 453
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65.

66.

67.

@

[210]

The first three terms of an A.P. are (3y-1), (3y+5) and (Sy+1)

respectively. The value of y is

A) -3

@ 5

(B)

(D)

AP.6,9,12,.. %1 ¥4 AW ¢

® 3

© 6

The common difference of the A.P. 6, 9,

@ 3
© 6
sin10° =
(A)  cosl0®
‘(C) sec80°

8,52 W40 T

- 107

€ ~-111

The 40th term of 8; 5" 2’

@ -107

€ ~1ii

(B)

(D)

(B)

(D)

(D)

(B)

(D)

.. 18

~ (B)

(D)

... 18

cos 80°

- 109

-113

- 109

- 113

~cosec 80°

2131-(42/50)
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B (210]
68.
AP. 11,15, 19, .. %1 Bi-q7 72 51 ¥ 2
@) o B 104
e 1a (D) 1274
W_hich term of A.P. 11, 15, 19, ... is 51 ?
(A) '_9th o (B) 10th
(© 11th .~ (D). 12th
69. ﬁﬁ%rﬁaﬁﬁﬁ[ﬁmmr-qm %%W% ?
(A)  sin30° . - | (B) sin60°
(€Y cos4se . (D) = cos60°
- Which of the following is equal to_.jl_é- ?
@ sin30® . (B) sin60°
(C) cos4527,0 ' (D) . cos60°
70. * AR tan@=V3, A 0 FTHAF F AT 2
@A) 90° - B)  45°
© 30 & 60°
If tan6 = J§ then what will be the value of 6 ?
A 90° . (B) 45°
(C) 30° o D)  60°

BiharbourdQuestioripqper,com |
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T2. .

73.

2.7, 5,3, 8 F HNIE €

@ 2 {B)
© 5 | | (D)
The median of 2, 7, 5, 3, 8 is

@ 2 | (B)

© 5 ' | D) .

7,2,5,7,7,3,7 % AT &

& 2 ' . ®

© 5 L D

‘The mode of 7,2,5,7,7,3,7 is

@ 2 R Ntz

© s o ndl O

it SiaTrel 154 25 %1 o foe @

Ar 10 | (B)

(C) 30 (D)

The class mark of the class interval 15 -

(A) 10 ' (B)

€ 30 ’ (D)

[210]

20

40

2518

20

40

2131 -(4275_o|
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74. W AW 2-55.g 5. 11, 11 - 14, ... % ST # TS €
A 2 ® 3
© 4 (D) 35
The length of the class intervals of‘the classes 2 - 5, 5 - 8, 8 - 11,
11-14, .. is |
A 2 B) 3
C) 4 | D) 35
75. (secA-cosA)(cotA+tanA)=
(Ay  tanA.sinA (B) tanA.sec A
(&) sinA.cotA (D) sec A.sin” A
76. AR AR wMAR fawy dEmett 1 o 6 ¢, ot wed w9 9@ d
(A) S , B 9
(C) 21 (D) 15
If the mean of four consecutive odd numbers is 6, then the largest
number is
A5 ' B 9
c 21 (D) 15
77. @ﬁmmﬂmﬁmﬁﬁmﬁﬁm ?
(A) A (B) -319HH
©r HH D) T F B
2131-warmgy| Page 30 of 48
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[210]

What should be the length of the classes to Ca-_lcu.,latc t.he,'mOde rgm

“the formula ?

(A)  Equal ) (B) Unequal
_(C). Very large | | (D)  None of these -
78, Teh IRERAT 57 o HeA T Sgorh ShATT: 28 m-ﬂls%l'mw |
o
(A)' 22 ko w .(B) 235
_(c')__ 24 g D) | 245
| ’I‘l‘;e ‘mean and mode of a fr'equ'enc.y dis&ibﬁtian' are 28 and 16
Ifﬁs‘peq:’ti;ely.' Whatwﬂlbg its median ? A
| (A].' 22 | .. @ 235
. (.c.):”' 24 » O) 245
79 . sin45°.tan45%sec45° =
woo I
©-2 - '. ) 2
(80, U W O TS &I B
&) arl K _I (.B). nr?h " I__.‘
(C)  ar(r+l) o ,_(D] 2nth -
.| 2131-42/50) Page 31 of 48
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81.

[210]

The total surface area of a cone is
&) nrl (B) wr’h

(C) nr(r+l). | (D) 2nrh

T & # 7 e, 6 el s i R §) O % A B ST

¥ T T e, T whe A ) i E

1

% B3
© 3 RS

A bag contains 7 réd; 8 green and 5 white balls. One ball is taken out

i at random. The probability that it is neiﬁuer red nor white is

W% Ly B Z']%_
R e i i
O AV o
82 g c099=% %, @l sin6 =
b2—a2 b2_a2
(A) a "BT/ b
| | 2, 2
©) ___b___ (D) b” +a
§ | b
2131-(4215ﬂ Page 32 of 48
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83.

84.

‘85.

e A =45 ,_T'ﬁ' Sec A +cosec A I A [

- (C) ..2 T g ,(.D}— 2&

[210]

If cose=%, then sin® ="

b2 _a2 E . b2 __a2
B ® 5
- - 2.2
(C) b D) b’ +a
| b2 -a® b
v1-sin A -
vl+sin A
(A)° secA+tanA ~ (B) secA-tanA
(C)  secA.tanA D) sinA

tan30° sin30° cot60° cosec30° =

W E L e
- g W - 1 Remdddovsoas o
(€ 203 S _. (D) 3 aﬁgaﬁqzaﬁ?,ﬁ%ﬁM-ﬁ

UTEIh A, died, Ale eee, Ae-307 32
e e Ut usa ua Af2 & 3.

~ ( BiharboardQuestionpaper.com p
B V2 "%

A) N - (

If A=45°, then the value of sec A +cosecA is

@ 1 LB V2
© 2 . D 22
2131-42/80)| . Page 33 of 48
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B ' | : | [210]

86. “ﬁﬁﬁwwmﬁoomﬁsmﬁmﬁmﬁmﬂw

LR
(A) %tﬁ | B) 1543 H
(Cy- 3043 Hi | D) 157

: o | ght the
If the angle of elevation of the sun is 60°, then the height of

vertical tower that casts 30 m long shadow is

20 | B 153 m
(A) 7 m (B) :
(C) 3043 m (D)° 15m

g7 AR «=p=30°, A cos(a+B) BN AN E

' 1
w L , ®
©0- 5 @ 1

| If a = B = 30°, then the value of cos(a+f) is

x : * l
(4) —‘/2—5- (B) Wy
© 3 o)1
2131-42/50) | - Page 34 of 48
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[210]

88. 2ta1130° _
1-tan” 30°
(A 0 ' B 1
1
3 L
~+c) V3 o 7
tan65°
89, otas® irqr:r%
A o ¢ : B) 1
<€ -1 | (D) .2
* The value of f:aortlggz is
. . @A 0 . s B 1
© -1 . o) 2

90. tan5°xtan30°x4tan85% ="
) B) 43
A (B) |

© 4 | D) 4

- 91.. afs fedt fgum SEU& p(x)=6x"~7x-3 & YEH o, &, a o+B=

o~

- - B -

B |—

© | D)

—

[2131-w2/50 | Page 35 of 48
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B [210]

- | 2 =
If o, are the zeroes of any quadratic polynomial p(x)=6x"~ 7x-3,
then o+ =
" | |
@ 5 | B I
© 3 © 3

92. IR TR x2+ax+b F YTF TR W i FoeT & &, T a=
-V S B) -1
© o " D) b
If zeroes of the polyriomial x? +ax+ b are equal but of opposite sign,

" thena=

@ 1 ® -1
© o D) b

03. Frefeifan ¥ Q@M fremw s & forers v 0 R 5 ¥ 2

(A) S x%+5x+5 (B) x*-5x

) x?*+5x D). . x%-5

~ Which of the following is a quadratic polynomial whose zeroes are

Oand5?

A) x*+ 5x +5 (B) x? ~5x

(C] x% +5x . (D) ."2 _-5

| | 131 4(42/501_ | Page 36 of 48
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(210 ]

94. a & OF HF feu gl e ax+10y =9, 2x+5y =11 1 HI
B Tl €, &
@& 2 B -2 |
@ ~4 - o 4
- The value of a for which the system _df equations ax+10y = 9,
2x+5y =11 has no solution is
A& 2 B). -2
© -4 . D) 4
95, 2x245x-12=0 FITH A ?
@ o ® 1 )
fagre s v site yerel sifhsfadus
c 4 D) 4 el due, dAises Uue, 3iide-dbl,
€ -4, Y UTGHh A, AleH, Al eee, Ae-307 e
' N Udten usal U= 31fe & f3e...
_ One root of 2x%% 5x-12=0 is
' _ ( BiharboardQuestionpaper.com p
- (a) <0 . I "%
C -4 | - _(Dl'_4
06. WHIHUT 3J3x2 +10x+ 3 =0 FT fordw TR &
@) 44 B 54
o 64 D) 74 -
2131-(e2/50) ., Page 37 of 48
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E [210]

The discrimj
ISCriminant of the equation 3v/3x? +10x+4/3 =0 is equal to

(A) 44 (B) 54
(C) 64 ! (D) 74
7. 234 AT TGS F 3 7w w2
A 3 . B 4
g&er 2 - D 1
What is the pbwcrlof 3 in the pfim_e factorisation of 234 ?-
A) 3 ¥ 2 B) 4

98. WMW%WWWWWW_3® 2 &, &~

TEUS ®
@) XP+2%33 T B 2,300
(C) A %> -3x~2 D) x2-3x42

The sum and product of zeroes of a quadratic polynomial are — 3 anq
" e - ’ all

2 respectively., Then the polynomial is
(A) x%42x-3 (B) x4+ 3x +2

* 2 3% |
(€)  x°-3x-2 ‘ D) x2-3x+2

2131'142;501 Pege 88 ot da
o
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o] - | (210)

.99, U Ul Sl 7gU% Feell ¥
@) frr ag | e e
(e ew mge

D) T ¥ &I TEl

A polynomial of degree one is called

(A)  quadratic polynomial (B)  cubic polynomial

(C)  linear polynomial =~ - (D)

none of these

100. :ﬁﬁﬁﬂﬁaﬁﬁ@ﬁﬂma@aﬁmwm%

(A) ‘ax?+bx+eya=0 B) ax*+bx®+c,a#0

_Lc,)/'ax?+bx2'+cx+d,a¢q (D) THIARS TR

 The most general form of the cuiaic polynomial in the following is
A)  ax2+bx+c,a#0 (B)

4
ax*+bx®+c, a0 -

©) - ax3+bx? +ex+d, a#0 (D) _.ﬁonc of these

. _-5_1:31-(42;50]
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E | I. | [210]

WUS - T / SECTION - B
oY I W / Short Answer Type Questions
7T Hear 18 307 g iy ww #1 g @ o 15yt & T &

HRE 79 & 1T 2 s FrafRa & 15x2=30
Question Nos. 1 to 30 are Short Answer Type Questions. Answer any
15x2=30

15 questions. Each question carries 2 marks.
l/xaﬁ? y § U Tar "ey T w1 e R P (x y) A ATl ¥, ) S

B(-1,2) Y TAQ® &t 2

- Find a relation between x and y such that the point P(x y)is
equidistant from the points A (1,4 ) and B(-1, 2).

Q/KWW%W (a21*a7l='é4-%,$rﬂﬁaiﬂ?ﬁlﬁﬁ'_l | 2
Find the common differe;nc_e of an A.P. in which (a,, —§7) = 84 .I
3 | ﬁ“ﬁ'aﬁ foh 'c‘an26+cot29+2=se;:2 6.cosec?6. - 2
Prove that tan” 0 + cot? 6 + 2= sec? 9.cosclcge ;
37 aCiw oy B b, P w C ww ¥ R w6
AB? =2AC?. biharboardqugstionpaber.com | 9

ABC is an isosceles triangle whose angle C is right angle. Prove that

A82:2A02
5. Wﬁ (x+4(x 4)=20. | _ o

Solve : (x+4)(x—4)=20.

2131-42/50 Page 40 of 48
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E | R  [210]

AABC 3R ADEFW%MWWW 64©ﬁ\ga€n 121 A
#13% EF= 154 3h ¥ @ pe # e @ B 2

o

3 I ' o K - 2
AABC and ADEF are similar and their areas are respectively 64 cm

and 121 cm?. If EF = 154 cm, then find the length of BC.

7. et & P Qﬁiﬁwmmﬁ_%ﬁﬂﬁﬂw

: Cy . . ' o _
3x+12y=5, 2x+8y =7 AT T v . 4

b
By comparing the ratios -g—L " —51— and —1 c , find out that the follomng
) 2 2 2

pa.u' 3x+12y =5, 2x+8y="7.1is mconsxstent
‘6/4:2—4t+1%wmﬁ@maﬂrm$ﬁaﬁwﬁ_

B (R . 2

‘Find the zeroes of 4t? —4t+1 and verify the relation between zeroes

and coefficients.

0. 'ywmmwﬁga:ﬁammﬁshﬁ@m_s-z,m
(3 2)#@1‘{'{331! | | 2

Find the coordinates of a poizit.on the y-axis which is équi distant
from the points (- 5,-2) and (3, 2). ‘

10,/q{;rﬁmmﬁﬁW7ﬁ%,mWWﬁl 2

Find the volume of a sphere whose radius is 7 cm.

[213T-warso] . Page 41 of 48

BiharboardQuestionpaper.com


https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

i1

(210
et sferst a amer 3t i
T 37 o] 15 | 20 | 25 | %
%ﬁlﬁ'&?ﬂ Eiks e 4 6 3 2 ¥
- Find the mean of the following data :
. Marks obtained 10 15 20 25 %0
Number of students | 4 6 3 2 g

lyﬁ'ﬁ"ﬁmﬁﬂwwﬁm?ﬁém (3,4), (4 3) T

(8,6)% | . 2

Find the area of the triangle whose vertices are | 3,4),(-4,3)and
( 8 , 6) respectively.

Ja,~ TR 541 7, 13, 19, .. %1 HH-H T 2058 7 o 2
Which term of the A.P. 7, 13, 10, ... is 205 ?
kA A T AR T 22 4 e+ 320 3. 2 g A iR
T & | - | 2
Find the value of k for wl:-n';:h 2x? +kx+3=0 has two real and equal
roots. _
15. - 5+9+13+17 +...+81 1 ATHA Tl Y | 4
o Findthesl_;lmof5+9+,13+17+.'_..+8'1. |
16. . W UGS TR 24 3R 36 %1 HoHo T ﬁoﬂo‘m ﬁ | 2 |
} Find the H.C.F. agd L.C.M. of 24 and 36 usiné prime factorisation
17. SR 2% ~3x-5=0 % TF T H{ 2
el Find the roots of the cqu-ation 2x%-3x-5=0. |
| I—Z_lm Page 42 of 48

BlharbourdQuestlonpaper com


https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/
https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

[210]
ﬁmwmﬁmWWWWWW
0 3R - 4% : ‘ 2

. Find a quadratic polynomial, the sum and product of whose zeroes

are 0 and - 4 respectively.

19. .Wmﬁﬁpﬁqﬁmaﬁtné@ﬁ%@ﬁﬁaﬁ l'sﬁﬂ"f%.ﬂmﬁ'—ﬁ
Pﬁﬁﬁ%#ﬁ'ﬁiﬁwﬁ%l%aﬁﬁwmﬁl 2 .

The length of the tangent drawn from an external point P to a cxrclc is
1S cm and the distance of the point P from the centre. of the circle is

17 cm. Find the radius of the circle. -
20, /5 5 e e et w2 FHE 2
‘. Find the area of a quadrant of a circle wﬁose circumfc;rence is 22 cm.
21. I A=90°d B=45° &, q fag
cos(A—B)=cosA.cosB+si¥1A.sinB. _ 2'.

If A= 90° and B = 45°, then prove that

cos(A- B)-—cosA cos B+sinA.sinB.

22. AR sec4A'=cosec(A- 20°) &, ammafrﬁw% dt A &1 T TG

. @ese elA-27

st pegcl90-uA)= _—_ 2
If 'sec4A = cosec(A—-20°), where 4A is an acute angle, then find the
value of A. |

3. )ef;qa aq;équmqﬁ'mssﬁ% T T T @B 2

If the perimeter of a semi-circular protractor is 36 cm, then find its

diameter. ' @ 11'9-)“7_
2131-(42/50) Page 43 of 48
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24,

25.

26.

28.

29.

30.

F|

[210]
; °
e 1.2.';:2330«:"/5' ’
Prove that —-Q-_ti‘.n_iQf__=J§ _
1-tan? 30°
'_%Enamm bx* + ax +c = 0 1 Frdres g L 2
Find the discriminant ti'»f quadratic équation bx?+ax+c=0.
R 6 = - 3 el 2x* +5x-3=0 T TF &1 | 2
Show that x = - 3 is a solution of equation 2x2+5x—3;0.
e weenvor 3x2—4J§x+l4=0 %@ﬁﬂ?ﬁ‘lmaﬁ! 2

Find the nature of t_he

roots of the quadratic equation
3x?-43x+4=0. '

a’ruﬁmﬁ@mﬁmaﬁma%wmmsm%lﬁ@r&m

2

The difference of two positive numbers is 3 and their product is 504,
Find the numbers.

I §@M (2n=1), (3n+2) T (en;ly-ﬂniat Sg ® & o T T
EZIEN | 2
If the numbers (2n-1), (3n+2) and (6bn-1) aré ih\A.P., find ﬁlese

numbers. ; :

fog =t 5 9 it it © faa o= g W o R S0 v iy
Gl o1 wehel! €| "
Prove that one and only one tangent can be drawn to any point on
the circumference of a ircle.

2131-(432/50)
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| [210 ]
ﬁ'd' ﬁﬁ‘l‘ B hE) / Long Answer Type Questions

| mmal‘#asﬂéﬁﬁumilﬁﬁﬁﬁﬁﬁ4mﬁtmilm
W & T 5 o fPraifee ¥

4x5=20

Question Nos. 31 to 38 are Long Answer Type questions. Answer any

4 questions. Each question carries 5 marks. 4x5=20

31. Ui fafyy & wefieeor g 3x-5y+1=0 T 2x-y-3=0 F & FX |
‘ S
USiI}g graphical method solve tlf_lc pair' of equations 3x-5y+1=0
and 2x—y—3=0_ .
32.

soaﬁﬁﬂﬁﬁﬁwuqﬂ{ q"iZ__%wéhagc—m'"q‘iﬁrﬁjl—lz-ﬁl 5

Divide 50 into two parts so that the sum of their reciprocals is % :

3-%?@3&2#@:{1}2:%3%: R 5

-SR] 5-15 | 15-25 | 25-35 | 35-45 | 45-55 | 55-65
SRR 6 | 11 | 21 | 23 | 14 5
Find the mean of the following distribution :
Class-interval | 5-15 | 15-25 | 25-35 | 35-45 | 45-55 | 55-65
Frequency 6 11 21 .23 14 5
2131-42/80) Page 45 of 48
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34.

35,

' 36.

[210]
WW@*ﬁ@ﬁsoﬁaﬁﬁm%ﬁaﬁﬁW*W%
AR G % o wew % e g p W ow @Y F A S
W60°%W@T@ﬁ%qﬁ&@ﬁ§pmmm30°%lw
H S T g p o) wn @ ool T A | 5

_ TWO poles of equal heights are standing opposite to each other on

either sides of the road which is 80 m w1de From a point P between

them on the road the angle of clcvatlon of the top of one pole is 60°

and the angl_e of depression of the point P from thetop of another
pole is 30°. Find the height of each pole and distances of the point P
from the poles. | o |

-@Wﬁﬂawc’@ﬁmﬁ-w=6@rﬂ BC = 8 §HI
£B=90°, BE ACWR &« BD HI U D &1 aBCDWtrﬁQ?r@'ﬁ 3
ARTH N R T et @Hl A 5
Draw a nght angled tnangle ABCin wh1ch AB=6cm, BC=8 cm and

AB = 90“I D is“the foot of perpendlcular BD from B on AC. Draw

. C1rcumc1rcle of ABCD and draw a tangent from A on this circle..

msﬁwq&»’@m 14ﬁ’rﬁnm§azﬁ@mam%| T Fropett g
gt 1 it % IR R 4 o I T R T T gw T v
TR T T 1 S ST ST ¥1 39 S ) S e .
A well gf djarﬁ;ater 3m is.dug 14 m d'eep. The soil taken out of jt lh -~
been spread evenly all around it in the shape of a circular ring of

width 4 m to form an embankment Fmd the height of the

embankment.
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B | | - [210]
f ¢ fi tan7°. tan23°. tan 60°. tan67°. tan83° = V3 . _ >

Provg that tan7°.ta1123°.ta1160°l.tan57b'tan83°='J§' ;
3. W& Ft i fmi arer g @ Pt gt w0 e i e st &
| ‘mwﬁwaﬁﬁmmﬁm@mwwmm”

|

-IE[EE‘;W%l | g o _ 5
Prove that "the angle between the two tangents drawn from an

~ external pomt tor a circle is supplementary to the angle subtended by

~ the line segment joining the pomts of contact at the centre

ﬁ%’l?a’l‘s“éiavaﬂzgmﬁarrﬂﬁm
Y qUue, ATss Gue, 3fiae-ol,

UT&Ashd, siled, Al ¢ec, Ae-31Y 312

Ufae e udtan usst ua 3fe & fAe...
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